
1

101 102 103 104

µ [GeV]

0.6

0.7

0.8

0.9

1.0

1.1

1.2
R

at
io

to
f

b(x = 0.1), 68% CL

CT18NLO

f

f̃

f̃(NLO)

101 102 103 104

µ [GeV]

0.0

0.5

1.0

1.5

2.0

2.5

x
b

×10−2

b(x = 0.1), 68% CL

CT18NLO

f

f̃

f̃(NLO)

101 102 103 104

µ [GeV]

0.4

0.5

0.6

0.7

0.8

0.9

1.0

1.1

1.2

R
at

io
to
f

b(x = 0.3), 68% CL

CT18NLO

f

f̃

f̃(NLO)

101 102 103 104

µ [GeV]

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

x
b

×10−3

b(x = 0.3), 68% CL

CT18NLO

f

f̃

f̃(NLO)

101 102 103 104

µ [GeV]

0.00

0.25

0.50

0.75

1.00

1.25

1.50

1.75

2.00

R
at

io
to
f

b(x = 0.5), 68% CL

CT18NLO

f

f̃

f̃(NLO)

101 102 103 104

µ [GeV]

0.0

0.2

0.4

0.6

0.8

1.0

x
b

×10−4

b(x = 0.5), 68% CL

CT18NLO

f

f̃

f̃(NLO)

101 102 103 104

µ [GeV]

0.00

0.25

0.50

0.75

1.00

1.25

1.50

1.75

2.00

R
at

io
to
f

b(x = 0.7), 68% CL

CT18NLO

f

f̃

f̃(NLO)

101 102 103 104

µ [GeV]

0.0

0.5

1.0

1.5

2.0

2.5

3.0

3.5

4.0

x
b

×10−6

b(x = 0.7), 68% CL

CT18NLO

f

f̃

f̃(NLO)

FIG. 1: CT18NLO Bsub xs: CT18NLO CT18NLO Bsub CT18NLO Bsub nlo x0p7 05 xbqk liny
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FIG. 2: CT18NLO Bsub xs: CT18NLO CT18NLO Bsub CT18NLO Bsub nlo x1e-5 05 xbqk liny


